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Bcetion

Example 1

t

The function P(t) = % models the population, in thousands, of Shelbyville, t years

after 1997. The population, in thousands of nearby Springfield is modelled by Q(t) =
240

s How can you determine the time period when the population of Springfield

exceeded the population of Shelbyville?

240 - 20L&
£ +% / =

Because we are looking at t years since 1997, t will be positive. This

means we can multiply by either (t+8) or (t+1) without worrying about
whether the inequality sign will change.
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BAction

How is the solution to an inequality different from the solution to an equation?
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Example 2
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Betion

Example 3
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